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L (@ wxdl: ()  yasil yey alad 4
Explain : Elasticity of Supply.
() &4 uneldl 24 Aliid 2uel
Total revenue and Marginal revenue.
HUWOR
vl : (@) [edl [sa-
Explain : Second order derivative:
i)  Miodl Herudald
Elasticity of demand.
r 3x
) [ f(x) =5 =5 - 10x + 9l Heunt v Yt (el Aaal. 5
Obtain the maximum and minimum values of the function
f(x) =%3-§§2'— 10x+9
AWaaw/OR
o = e3x (log x) sy, dl% aull.

(9]
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If y=e**(log x) then ﬁnd%.

A5 axgedl Hiotdl Py P=59 —x 6. R x =81 ¢ld AR Hiadl 3 AL
alal. A
The demand function of a commodity is P = 59 — 4/x. Find the elasticity of demand
when x = 81.

A2WOR

1 P.T.O.



(b)

(c)

A0 At v wledlrl Gedienl Wl ¢ = 1 - 7a2 - 5x - 20 U dl 20 AsHlL
Ocutet M2 Amld Wl qaal, x Al 56 (ud wal Ry agus wa © d ueL sl

If production cost of a commodity of x units is ¢ = x® - 7x? = 5x - 20, then find
marginal cost of 20 units of production. Also find the value of x for which cost
function is minimized.

A+l ovyr 20l At Hasl weual. 4
Give the definition of Integration and state its rules.
WHAWOR

(Mud Asa 124 g ? d-u eyl azual.
What is definite integration ? State its properties.

AL @ul Asan 53, 6

Integrate the following functions :

(1) J (6 - 5x* + 4x - 32 + Ax -.'l,tj + e") dv.

WYWOR
3
) Sx -Jlr- 7
2
(ii) I x(2 - x)? dx

|

= 10 8l dl s vl [@dy
o At wal (a8 MC-7+3\(}+$M& Rer v ¥ P

wd adze v [y Aaal.

If the marginal cost function MC =7+ 3 x+ ;};and fixed cost is ¥ 10, then find

the total cost function and average cost function.
AYWOR

x g Aaic 2unedl RAY 500 + e~ 0% 3. »u el 100 wLsdl-i duewell udl

-4=0.0183)
4o duas wdl. (4= o o
If the marginal revenue function of 3 commodity x is 500 + ¢~ %%, Find the total

revenue when 100 units are sold. (e~ % =0.0183)

4



(b)

(c)

(b)
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m AL 2 (g (x), y)) wiell W ud)l vt allseen Aaal. 4
Find equation of a line with slope m and passing through a point (x,, y,).
AUYWOR
AHANal : (i) sl (ii) id:vig
Explain : (i) Slope (ii) Intercept.
WAl x -y + 1= 0214 3x -2y — 1= 0 4L et Bagatiell waur udl A1 ydui
2x -5y -7=0- dot Yruugd willse daql. 5
Obtain the equation of a line passing through the intersection of the lines
Y-y +1=0and 3x-2y -1 =0 and perpendicular to the line 2x — 5y - 7= 0.
AUYWOR
WU 2 -y -1=03dx+y-8=0- Set Biguill Wi udl 2
Sx -2y +7=0" AHidR Yuud wfls2e Aqal.
Find the equation of a line passing through the point of intersection of the lines
2x-y-1=0and x +y- 8 =0 and parallel to the line 5x - 2y.+ 7 = 0.
s Rl x Ml Geled UL vl Ty . A d gl 300 wsHl Geulent
5Alq WA T 1000 eld 24 500 sl Gewret sl Mzl T 1500 ely, dl R

wal eyl dxe 1000 sl T4 -l oud dyi 2ud dl s2al -5l 4l ? 5
The cost of manufacturing x units of an item is. T y. If the cost of manufacturing
300 units is ¥ 1000 and that of manufacturing 500 units is ¥ 1500, find fixed cost.
Also find the profit, if 1000 units are sold at ¥ 4 per unit.

»YWOR
() Wk 520 ¥ YWl 8x + 6y =76 =0 3x< 4y + 5 =0 2ol do ©.
Prove that the straight lines 8x + 6y - 76 = 0 and 3x — 4y + 5 = 0 are
perpendicular to each other.
i) (5, -3) Bigxiell yauR 2efl »i G B8 U AV UL B A R

vic:uis otladl Yavud wlsel wldl.
Obtain an equation of a straight line passing through (5, -3) and making
intercepts on two axes equal in magnitude and sign.

yuld Adddi qMic Sl 2 deld ARl4l n M Ye il n Uerll AR
glladl-L Yol @il 4

In usual notations, write formulae of n” term and the sum of n terms of Arithmetic

progression and Geometric progression.
| 2qa/OR
aicdz 28l 2 AMidR Heus Gelsel AMd wxAdl.
Explain Arithmetic progression and A_rithmetic mean with illustration.

@) el 540, 535, 530, 525, ....... d 153 ue 21 Had 15 Yeell Wl w4l 6
Find the 15" term and the sum of first 15 terms of the series 540, 535, 530,

2 A . o
ai) 4=l 3,9,27,81,...... o4 84 ue i uuM 8 yerl Al aulsl.

Find the 8" term and sum of first 8 terms of the series 3, 9, 27, 81, ...
219WOR
4ol Avavdl AdidR Aeli wuddl 8 Bl Al 45 - deusik 3315

Q. vl Avavll wlal. |
Three numbers are in arithmetic progression whose sum is 45 and the product

is 3315. Find these numbers. 3 -

()



i) o 4t vl AR HHUs B A8l Mg sl 61 -l 1169, dl 4
Avyivil Ul
The Arithmetic and Geometric mean of two positive numbers are 61 and 1]
respectively, then find these numbers.

©) s AHIdR A0l UUH 20 YEl4l n] 1090 i 25 eldl Al 1675 ©.
» ARl 203 we 2yl 4

The sum of first 20 terms of an A.P is 1090 and 25 terms is 1675. Find its 20"
term.

AYWOR

(A 2l e n yel Rl k.

8+ 88 +888+8888+....... .
Find the sum of n terms of the following series :
8 +88 +888 +8888+....... :

9331 Al e AL ual-AL weuot 2. 14
Answer the following questions with necessary calculations.

2
(1) Ay ='i'= sly rﬂ:—é aLlul.
2
Ify= f then find ﬁ-j

2) Alid 2w, 232w el v HivHl e qadl Q| AU utlc.ﬂ._
State the relationship between marginal fevenue, average revenue and elasticity of

demand.

3) f 0_“' dx -l (it dadl.

X

(4) Asad 52 ¢ f (2x + 11)7 dx

lntcgrnte:'[(i’.x+ll)7dx |
(5) allsrel 3x -2y +14=0WRHl 211 e y-2i8t YRl ic:vis alldl.
Find the slope and intercept on y axis for the equation 3x — 2y + 14 =0.
6) U Big (5, 1) vl 3x+y =14 2144 €9 ?
Is a point (3, l)isonmcﬁnc3x+y=l4?

(7 2=l 37,33,29,25,...... 4 123 ue alul.
Find 12® term of the series 37, 33,29, 25, ......




